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7 100kN/m%#8z% | 1.00 | 000 ~ 2566| 140.12 |3mExBZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 1091 ~ 2642 140.12 |3m%E#BZ% - ~ — — —
Fhst 1.00 | 266 ~ 1034 100.00 | Fhs | 0.00 ~ 1034| 2.88 15.39 FhLst 1.00 | 5.00 ~ 1091 100.00 | #hst | 5.00 ~ 2642| 2.88 156.39
2 100kN/mM#E#BZ5 | 1.00 | 000 ~ 310 149.56 |3mZ#BAB| — ~ — — — | 100kN/mM%#82% | 1.00 | 1082 ~ 3880 149.36 |3m%EiBzZ% - ~ — — —
Zhst 1.00 | 810 ~ 1088 100.00 | st | 0.00 ~ 1088| 3.00 16.05 zhLst 1.00 | 6.00 ~ 1082 100.00 | #hst | 5.00 ~ 3880 3.00 16.05
3 100kN/m%#8%z% | 1.00 | 000 ~ 299 147.56 |3m&xBZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 1093 ~ 3880 147.56 |3m%EiBZ% - ~ — — —
Fhst 1.00 | 299 ~ 1078 100.00 | =hst | 0.00 ~ 1078)| 2.97 15.92 Fhst 1.00 | 5.00 ~ 1093 100.00 | #hst | 6.00 ~ 3880 2.97 16.92
p 100kN/m##8%z% | 1.00 | 000 ~ 258 140.62 |3m&xBZ%| — ~ — — — | 100kN/mM%#82% | 1.00 | 11.43 ~ 3680 140.52 |3m%E#BZ% - ~ — — —
Zhst 1.00 | 2568 ~ 1036 100.00 | #hst | 0.00 ~ 1036| 2.89 15.49 Zhst 1.00 | 6.00 ~ 1143 100.00 | #hsy | 5.00 ~ 35680| 2.89 16.49
5 100kN/mM#E#BZ5 | 1.00| 000 ~ 214 133.14 |3mZ#BAB| — ~ — — — | 100kN/m%#82% | 1.00 | 1226 ~ 3680 13314 |3m%E#BZ% - ~ — — —
zhLst 100|214 ~ 992\ 100.00| FThis | 000 ~ 992|282 15.08 zhLst 1.00 ] 6,00 ~ 1226 100.00| FnLS | 5,00 ~ 3680| 2.82 15.08
P 100kN/m%#8%z% | 1.00 | 000 ~ 186 12870 |3m&x#Bz%| — ~ — — — | 100kN/m%#82% | 1.00 | 1220 ~ 2680 12870 |3m%E#BZ% - ~ — — —
zhLst 10018 ~ 965| 100.00| FThis | 000 ~ 965|272 14.58 zhLst 1.00 ] 56,00 ~ 1220 100.00| FnLS | 5,00 ~ 2680 2.72 14.58
- 100kN/m%#8%z% | 1.00 | 000 ~ 225 135.00 |3mZEBZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 11.50 ~ 27.74| 135.00 |3m%E#BZ% - ~ — — —
Tt 1.00 | 225 ~ 1003 100.00 | ThLS | 000 ~ 1003] 2.79 14.92 FhLst 1.00 | 6.00 ~ 1150 100.00 | TnS | 6.00 ~ 27.74| 2.79 14.92
3 100kN/m%#82% | 1.00 | 000 ~ 260 140.92 |3mZEi#BAS| — ~ — — — | 100kN/MiZ#825 | 1.00 | 10.73 ~ 2502 140.92 |3m%EiBz5 -~ — — —
zhst 100|260 ~ 1039 100.00| FThs | 000 ~ 1039] 2.92 15.63 Thilst 1.00 | 5.00 ~ 1073 100.00 | Ths | 500 ~ 2502|292 15.63
9 100kN/mZ#B25 | 1.00 | 000 ~ 292\ 14631 |3mEBZB| — ~ — — — | 100kN/iZ#825 | 1.00 | 1061 ~ 27.72| 146.31 |3m%EiBz5 -~ — — —
st 100|292 ~ 1071 100.00| FThis | 000 ~ 1071 2.97 15.87 st 1.00 | 6.00 ~ 1061 100.00 | =nst | 6.00 ~ 27.72| 2.97 15.87
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Thst ~ Thst ~ ZThst ~ Zh s ~




